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1. White short notes on the following :
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(@) Government of India Act, 1853
/ IR TR AR, 1858

(b) Birsa Munda Movement
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o
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(c) Indigo Revolt 8
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(d) Patna Kalam Painting 7

f Devéldpfnent of Caves in Ea;tem India in Ancient Time g 7
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2. (a) Discuss the factors for the emergence of Indian National Movement. How it
gave direction to the freedom struggle? ' 38
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Or | 3rear

(yDiscuss the growth of colonial technical education in Bihar under various
schemes of British rule. Critically analyse its impact. 38
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3. (a) Analyse the devélopment of temples in North India in ancient time. - 38
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MGSCribe Rabindfanath Tagore's ideas of society and culture, 38
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Where was the 18th Natio

Describe its objectives.
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4, Write short notes on the following -
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nal ‘Scoyts and Guides Jamboree organized?
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[‘M/ Explain the mandate of United Nations Public Administration Network in
managing the peace and strong institutions under Sustainable Development

Goal-16.
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Discuss the right-
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((69/ Describe the efforts made in

of Bihar.

based e-service delivery scenario of Bihar.

WK 9 ggg TEA3N & Ya-uA & Had fae

the field of solar power generation in the State
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: ,,('{Cﬂﬁéélly' examine the features of self-reliance Bihar Saat Nischay-2
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5. (a) What are the draft re

Commission to

India? What prospects
in India? Do you think

of your answer.

{2020-2025) programmne:of:good-governance. 2
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gulations announced recently by the University Grants

open the door for foreign universities to set up campuses in

do you visualize about their impact on higher education
it will be a game-changer? Give arguments in support

38
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/(d/ In the wake of it Criticism by the Vice-President of India recently, critically

ne-of basic structure given by the Supreme Cogrt of India
Do yoy think this debate will prove to be a point of clash

Cutive and the judiciary in near future? Give arguments. 38
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6,7a) Do you think India must reclaim the leadership of the developing world

(b)

through its ambition to steer the G20 Summit in Delhi to success later this
vear, despite India’s oWn enduring developmental challenges? Do you think
India faces the real difficulty of Uniting the Global South in pursuit of common
goals? Write your answer with Convincing arguments.

1 IR T T B 3§ R F 2 oy <fi-20 Rrew @@ed #
It Tt feehrere® S 5 T www B s TewETiaT & W @
Wm%ﬁm@%mﬁyzmmaﬁq?wmm
2 o6 v 1 eft R B AW A A i e At BT
mmmwmﬁ?mmaﬁaaﬁ%ma%ﬁm ‘

A Or | 31

Evaluate the role of United Nations in access and resource management
about support of Syria and Turkey earthquake disaster.
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Study the following table carefully and answer the questions given below
this table :

Highest and Average marks obtained by students in five subjects
during 2012-2017. The maximum marks in each subject are 100.

38

38

Year Subject

. English Hindi Mathematics ‘Science History

Highest| Average(Highest Average| Highest | Average|Highest Average|Highest |Average

H | @ | B @ | w | wm | oa | o® | @
2012 | 85 | 65 80 60 | 75 60 76 50 80 50
2013 | 80 60 |75 63~ 75 55 55 35 85 70
2014 83 62 .~8.Q,'~_; . 60 757 50 50 30 82 60
2015 | 70 55 75 S0 85 65 85 55 | 80 60
2016 | 72 | s0 70 | 50 | g0 55 90 60 90 65

2017 75 | 60 | 80 | 60 || 85 | 79 70 | 40 | 70

55




(a)

(b)

(c)

(d)

(e)

(f)
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Prfrfiaa wTRON 1 S Aerm it v el & A g T IW
CUENE
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(H) (A) (H) (A) H | @ (H) A) (H) (A)
2012 | 85 65 80 60 75 60 76 50 80 50
2013 | 80 60 75 63 75 55 55 35 85 70
2014 83 62 80 60 75 |. 50 50 30 82 60
2015 | 70 55 75 50 85 65 85 55 80 60
2016 | 72 | so | 70 | so | 8 | s5 | 90 | 60 | 90 | 65
2017 | 75 60 80 60 85 70 70 40 70 55

What is the combined average marks of all the five subjects in 2015?
oft Tl #1 20150 wgw fEd TH FTR? o

What is the percentage increase in average marks of English from
2015 to 2017?

2015%2017&%%%3&#13%%1%&3&%?

During which year the difference between the highest marks and highest
average marks in Maths was maximum?

mﬁﬁvﬁmﬁmwmmaﬂnﬁmwmwﬁmm?

What is the percentage of highest marks i, Hindi in 2013 with respect t
average marks of Maths in 2016? in Hin D 1!

2013ﬁﬁz—-q‘tﬁ3aawmwuﬁm 2016ﬁnﬁma;sﬁwmwﬁﬁw
wftra 27

If 50 students took th T SO v :
ey o ¢ Xamination i, 5013 in Maths, what were their

aﬁzmsﬁsoﬁmﬁiﬁﬁnﬁmﬁqﬁma ) 975 31 1 F1 AN R an?

In between which two ye ; ] .
maximum? vears, the difference of highest marks in Science was
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Study the following graPh carefully and answer the questions given below :

Profit percent of companies ABC and DEF during the year 2001-2006

(P,rofit percent = Income - Expenditure 21 OO)

Expenditure

ABC
N - — -Ao- - - DEF

0 > e - - -
2001 2002 2003 2004 2005 2006
Years
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99 2001-2006 1 @i 3 N HufiEl ABC 3R DEF g ifsfa whaera v

R T = S 29 100

70+’
65
601
55+

o %

50
45
40

ABC
- - -- - - DEF

0

2001 2002 2003 2004 2005 20'06
i :

(a) Let the income in 2005 of c't?mpanies ABC and DEF was in the ratio 3 : 4.
What was the ratio of expenditures of companies ABC and DEF in 2005? 8

qmﬁgzoosﬁ‘cﬁ@ﬁ?ﬁ_ABCaﬁTDEFﬁ 3 AV 3:4 % 3 | of
2005 % 37% (S ABC 3 DEF %) & w1 weiferd 31ema =y o7 2

(b) If expenditure of company DEF in 2002 was ¥ 190 cr,, what was its income
in the year 2002? ' 5

 aww 2002 & A DEF 1 @ € 190 %5 o, 3ot amr 2002 3 gy oft 7
(c) If expenditures of company ABC and DEF were

income of both the companies in 2001 yas &
total profit of both the companies in 20017

W2001ﬁ$ﬁABCsﬁIDEF%mmaam2001ﬁ PR
B R wHufaai &
3 € 825 w1 o, ZOOIﬁ’q’rﬁmﬁzﬁm%mwj:ﬁ i R g

equal in 2001 and total
825 cr., then what was the
10

03/FH/CC/M-2023-02/2 (5) ( Turm O66s)



8.

(d)

(e)

‘ (a) |
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Income of company ABC in 2004 was & 750 cr. What was the expenditure *

in 2004? 5
¥ 2004 8 ABC B 3T ¥ 750 v o e @ T 2004 F 1 17
If income of both the compames was equal in 2003, find the ratio of
expenditures of company ABC and DEF ; in 2003. 8
71 2003 H 1 el ) st e o, 03 4 F ABC % = 1
DEF & =1 § 39T F1 o7
The Bar Graph given below shows the sales of books (in thousand numbers)
from six branches of a publishing company during two consecutive years 2000
and 2001.
Sales of Books (in thousand numbers) from Six Branches—B1, B2, B3, B4, B5
and B6 of a publlshmg company in 2000 and 2001 are followmg
120
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What is the-ratio of th g "7 2000 ' £32001
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(b) Total sales of Branch B6 for both the Years are what
O B3 S hoth e yesrs? at percent of the total sales

2t it 3 fw s B6 P TR, 2 et 3 fora wmar B3 1 e sk
ferqan wftera 20

(c) What percent of the average sales of branches B1, B2 and B3 in 2001 is the
~ average sales of branches B1, B3 and B6 in 2000? :

2001 & wrEatt B1, B2 3 B3 6 aftaq Rl w5t Recn v 2000 F @i
B1, B3 aik B6 &1 aiwafenhl 27

(d) What are the average sales of all the branches (in thousand numbers) for the
year 2000? 8

€ 2000 3 fyw Tt yrEsT 6 afew fsh (ww den #) fe @

(e} Atotal sale of branches B1, B3 and B5 together for both the years (in thousand
numbers) is what? 6

i it 3 o sl B, B3 SN BS i gt ek (g e ) e 27
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The following pie-chart shows the percentage distribution of the total
~expenditure incurred by a company in different expense sections
during 2015. Study the pie-chart and answer the questions given below :
Percentage distribution of total expenditure of a company
Infr
Tra

Infrastructure

Transport

Adv = Advertisement

Tax = Taxes

R&D = Research and
Development

Sal = Salary

Int. = Interest on Loans
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A e ™ gu-aw, 2015 % gy Jd % TEd B! F FA =
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Infr =§ﬁm‘a€ﬁ
Tra = UiE&A

Adv = fasmm

Tax = &

R&D = WY 3R fyem
Sal = wm Y
Int = FU WS

(a) How much times the total expenditure of the company is of expenditure of
research and development? ,

e B % R HY oA T, e o forhre s Q el T 27
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(b) If expenditure on tranéport is ?'72\crores, then what will be the difference
between the expenditures on salary and advertisement?

I g @ e ?zm%,amaﬁxﬁﬁmm@é%ﬁawm??

(c) What is the ratio of the tota] expendityre of taxes and interest on loans and
total expenditure on infrastructyre and transport?

wﬁ@mwm%gm@é,amgm f gt Td TRaE % e @ B R
HATd 27 L3

(d) If expenditure on intere

st on loan ; : t will be the total
expenditure on adyertis loan is & .60 crores, then what w

ement, taxes ang ?
IR T RSN € 9,60 iy Nd salary?
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(e) How much times d
expenditure on adys. tis';f‘fevrem:e of expengdjture on interest on loans and the

; ’ h
O TSN W@ i entis of the EXpenditure. on advertisement:
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